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1. ‘feos wpa offw difafeas’ =t s ol e ?

(1) fefg= 9= (2); 9 2T B

(3) A T (4)  encfg s

Who among the following founded the ‘Tilak School of Politics’ ?

(1) Bipinchandra Pal (2). _ Shripad Amrut Dange
(3) Lala Lajpatrai (4)  Arvind Ghosh

2.  GRie® FO ek heme! dufke ¥ 25,000 WhA w2
(1)  STeseIreA! SR (2) THFW WEHH
(3) A SO YRR (4) T AES WEH
Who among the following gave a personal sum of ¥ 25,000 to the Elphinstone Fund ?

(1) Balshastri Jambhekar (2)'_ ~Ramkrishna Bhandarkar
(3) Nana Jagannath Shankarseth ~ (4) ~Waman Aabaji Modak

3. WWWWW&WW@HWWWW7
(1) wHHARE Teaeam (2)  iferamr asherdt
(3)  FHEIST T (4) AR g

Who was the prominent participant in the Satyagraha at Dharasana in the Civil Disobedience
Movement ?

(1) Kamaladevi Chatopadhyaya (2) Ambika Chakrawarti
(3) Kasturba Gandhi (4) Sarojini Naidu

4. 1857 <A SIEME HAR A TG FONHE B 2

(1) e 2 (2) FFETEIee

(3) RS (4) el sETeSed
Who was the leader in the uprising of 1857 m Kanpur ?

(1) Tatya Tope (2}  Azimulla

(3) Nanasaheb (4) Maulavi Ahmedulla

Fo=d] BETATS! WP / SPACE FOR ROUGH WORK P.T.O.



W18 4 A
5. Toem ot foser foem 9 = a1 @recis! S TSN G-I shivard 277 ?

(a) AEHIT (b) TEHH

(c) Tewme (d) el TS R grAw MY
ot 3y

(1) (a) 3T (d) ISR 3T (2) TR (a) FUAT M

(3)  (b), (c) N (d) TR 37 (4) R (d) T I
Noted Warali painter Jivya Soma Mhase was honored with which of the following awards ?
(a) Padma Bhushan (b) Padma shri

{(c) Shilpguru (d) National award for tribal arts

Answer options :

(1) (a) and (d) are correct (2)  Only (a) is correct
(3) (b), (¢) and (d) are correct (4) Only (d) is correct
6. HHF & RO HEATTh Bl
(1) HreeE 2y 3) % 4) %
Simuka was the founder of the dynasty.
(1) Satavahana (2) Sunga (3) Kanva (4) Saka

7.  SYEHCIEIEHHie (TR SR wed Hele Wl 4ieq Hied sraeied] Y@ Aiee Hghil Hior ? =~
(1) wfSH =g (2)  STTHAT WM
(3)  hEITe e (4) T HHE A

Who was the main female collaborator with Mahatma Gandhi in the struggle of mill workers in
Ahmedabad ?

{I) Sarojini Naidu (2) Anusaya Sarabhai

(3) Kasturba Gandhi (4) Aruna Asaf Ali

= BTHTIATS! PN / SPACE FOR ROUGH WORK
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8.  Iehi=dl STEdl Al -

(a) oTege T - g fe

(b) T =Y - g faeeE

(c)  TTLH 3TTeH T - wEEl uEs

(d) st 1 HHEU - foore 9 A W

et 3y

(1) ™K () (2)  (a) = (d) (3) (b el (d) (4) (o) =0 (d)
Identify the wrong pairs.

(a) Abdul Samad - Famous painter

(b}  Takhte Taus - Peacock throne

{c} Prince Azam Shah - Bahamani ruler

(dy Bibi ka Makbara - Memorial of Dilras Bano

Answer options :

(1)  Only () (2)  (a) and {d) 3y (b) and (d) (4) {c)and (d)

9. BB FHIH RTRReiet snenfid 1968 =0 wegta Nerfores SR TE@A A FI0RT B2
(a) A=A 14 FUGAT T F 9iFwa e,
(by ToeferimiEt 3= T 9 guwid aa.
(c) U 2 3= femE 10% eyt w4,

Whﬂ' 3?}{' :
(1)  ® {a) 3 (b) (2) e (b) 30T ()
(3) W (a) M () (4) =Fe 9d

What were the main principles of the National Education Policy of 1968 based on the
recommendations of the Kothari Commission ?

(a} Compulsory and free education till the age of 14 years.
(b) Higher position and improved pay for teachers.

(c)  Atleast 10% of gross national income spent on cducation.
Answer options :

(1)  Only (a) and (b) (2)  Only (b} and (c)
(3)  Only (a) and (c} (4)  All of the above

TRl BTG W / SPACE FOR ROUGH WORK P.T.O.
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10.

11.

12.

6 A
YAAIE ] AT e HIa Y 3Rt fag anf qeeia Sfaerised Haen oG o® ?
(1) T=fE=n aufor g (2) Tafsman snfn e
(3) TEos satw s (4) = S0 ekt

Which of the following taxes was collected from Hindu and Muslim landlords respectively during
the Sultanate rule 7

(1) Jizya and Shar (2)  Jizya and Khams

(3) Khiraj and Zakat (4)  Khams and Zakat

3. 1907 9% VRS TEHF REES Fi2 gecaHdt, (g 39 T Hwo fiame, @ Amen faea
3R, o faum #f e ?

(1) i Fzm (2) ©rwa feas
(3) e et (4) e fa=

After the split in the Indian National Congress in 1907, who made the statement ‘National Congress
Collapsed at Surat, this is our victory” ?

(1)  Lord Curzon (2)  Lokmanya Tilak

{3) Lord Morley (4)  Lord Minto

TSR] ST EFHT FIAESR wge ol a1 wRel yane fasmmen de fed ?
(1) == (2) FORE (3) eI (4) T

Abdul Razzaq, a Persian traveller visited Vijayanagar during the period of which of the following
rulers 7

(1) Harthar (2) Krishnadevrat  (3) Devrai | (4) Devrai Il

ee] BRI WH / SPACE FOR ROUGH WORK
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13. wdads @ T @ieleisn! Siod Aied g 7

(a) formfeie (b) el () Tt (d) AR
At I

(1) ™ (a), (c) SO (d) (2) I (a), (b) AT (c)

(3) e (a), (b) ST (d) (4) =@ =

Which of the following literature was written by King Harshavardhana ?

(a) Priyadarshika (b) Harshacharita (¢) Ratnawali (d) Naganand
Answer options :

(1) Only (a), (c) and (d) (2) Only (a), (b) and (¢

(3)  Only (a), (b) and (d) (4)  All of the above

14. 8% FTESTeNa @eilerient S0 3fqes T HI0am™ 21 3 2
(1) wEEd™ e et (2) o i FfH
(3) T-wrEd fefan 4) 9ol s et
Which of the following objectives was outlined in the Nehru Report ?

(1)  Achieving Dominion Status (2) Creation of Two Nations

(3)  Achieving Home Rule (4) To gain complete Independence

] BIHIGTS W / SPACE FOR ROUGH WORK P.T.0.



W18 8 A
15. TSI Seddeiil famr &g anfin Heifug ooedl g diva Sie e -

(a) W (i) fede foom
(b) feeeh (i) N AATAH
(c) TS (i) <ArRHI fozw

(d) wEH (iv) TEIE 50 e

(3 v @ 00 @)
@ @ ) (v 3D

Match the correct pairs of extension centers of Swadeshi Movement and their concerned persons.

(@) Mumbai (i) Chidambaram Pillai
(by  Delha (i) Lala Lajpat Rai

{c) Punjab (i) Lokmanya Tilak

(dy Madras (iv) Syed Raza Haider

Answer options :

(@ (b) (o (d)
N G @) G 0
(2)  am) v} @ @
Gy v @ @ ()
@ O @ () ()

weedl SIATETS ST / SPACE FOR ROUGH WORK
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16. TFAIIH! TEe IeXfTaied I AT A ?

(a) wHEA A

(b) Tren I e
(c) Ve fawdiol aem

(d) < Tl HH 36T

(1) T (a) (2)  (b) =0T (d) (3) FH (o) @) (b), (o) = (d)
Which of the following is not a characteristic of intensive subsistence agriculture ?

{a) Intensive cultivation

(b)  Animal husbandry is a complementary business to agriculture

(c)  The vast size of the farm

{d) Maximum vield production per hectare.

Answer options :

(1) Only (a) (2)  (b) and (d) (3)  Only (c) (4)  (b), (¢) and (d)

17, @TATETdeh] ShioTdl AFRT el STehdte s ATel ?
(1)  FSIFe=a1 TSTHRE (2) SIdeerdt
(3) Tfow=madia (4) TwRAT

Which of the following is not the pattern of Urban settlement ?
(1) Checker - board (2) Circular

3 Dispersed 4 Linear
P
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18.  AI7g SIS @l ¢
Bl T e
(a) W4 () 99 FEe
(b) TR i) Wz Hfem
() FTAT (i) T
(d) fiefern (iv) W SR %
wat Sy
(@) (b)) () (d)
L @O @ @ (@)
(2) (v} (i) (D) @)
(3 O () @ )
(4) @) @ Gv) ()
Match the correct pairs :
Country National Park
(a) India (i) Jim Corbett
(b) Ecuador (i) Grand Canyon
() US.A. (iii) Galapagos
(d) Australia (iv) Great barrier reef

Answer options :

@ (b) (9 (d
1 @© @ @) (i)
(2)  Gv) (i) G) (0
Gy @ ) @ )
@ Wy @) ) @

19, 999 Y@ SArged GeH Wietadeh! Soen fSegm fem o ?
(1) Fayg (2) WER (3) st (4) e
In which district is the Hetwane major urigation scheme located ?

(1) Sindhudurg (2) Satara (3) Beed (4) Raigad

Hee] BIATATS! W / SPACE FOR ROUGH WORK
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WEATIh! TV TS FSHI1 TUIEH A ?
(1) TohTe TEHMAN WA Ah RN U1 HH{ed HeAe! AT
(2) WSH I FHNE A FHA0] FHA,
(3) EIHE THEH SHaEsy A@ead.
(4) WSH Gq STHA, TS Tl A g B,
Which of the following is not a characteristic of sedimentary rock ?

(1) Particles of many sizes are organized in a single rocks layer.

21.

(2)  The rocks are huge and hard.

{3)  Fossils are mainly found in rocks.

(4) Rocks are soft, so they wear out quickly.

YRATE ST 96 & Geged aie Ard el are
o T (& T )

(a) 1981 1y 15

(b) 1991 @ 11

(c) 2001 (i) 08

(d) 2011 (iv) 07

atEt 39T
(@) (b) () (d)

1 @ @ @ G

(2) @ @ (v) (@)

3 O @) () (@)

(4) Gv) gi) @@ @

Match the correct pairs of census year and death rate in India -
Year Death rate (Per 1000)

(a) 1981 @ 15

(b) 1991 i 11

(¢} 2001 (iii) 08

(d) 2011 iv) 07

Answer options :
@ (b} (o) (d)

O @ @ @ )

(2) @ @ v (i)

(G) @ @ () (@)

@) v) @) @ 6

Foe] BTHTETS AR / SPACE FOR ROUGH WORK P.T.O.
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22, Towgtees aTede WielayHm Jfsmes o1ed -

(a) Tl WITE, TEdTe YEl, € el Yo¥ 39 Yiphfaw 9 Attty giasedyes Aol aued!
g e

(b) T SEREdHE S A & URTeh] W] 3T
() =1, SR, TR, {oeHr] S e T THg TEIT §F 3{arer e
(d) HIE 9TTE TEE Y YA I IRAT 21 oTEdt ST,

TRt B fawm /faur siEw emg/q?
(1) (a) P (2)  (a) 300 (b) W
(3)  (a), (b) 3O () ‘ (4) =« wd

Dispersed settlement have the following characteristics :

(a) Dispersed settlement ts found in hilly areas, grasslands, dense forests due to physical and
environmental unfavourable conditions.

(b)  The structure of the houses in this settlement is isolated.

{(c)  Due to rivers, mountain ranges, roads, railway lines etc. the clusters of houses are far away
from each other.

(d) These settlements are found in plains and fertile soil areas in India.
Which of the statement given above is/are correct ?
(1) (a) only (2) (a) and (b) only

(3} (a), (b) and (c) (4)  All of the above

23, @it S Fey TS el ATE ?
(1) fue (2) faam (3) A (4) TR
Which of the following is not the tributary of river Sindhu ?

(1) Chinab (2) Biyas (3) Son (4) Ravi

o] HIATATS! W / SPACE FOR ROUGH WORK
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24, TEEIEE HIUH ThRETA JAYNE! ez ?
(a) GEHR (b)  HHIWL (c) =@ (d) TBER
g 39
(1) (@), (b) 0 (o) (2)  (b), () ST (d)
(3)  (a), () MW (d) (4) =d §8
Which type of drainage pattern is found in Maharashtra ?
{a) Dendritic (b) Parallel (c) Indefinite (d)  Trellis
Answer options :
(1) (a), (b) and (c) (2) (b}, () and (d)
(3) (a), (c) and (d) (4) All of the above
25. Grehd faumra foaan w67 9w fAaer
faem (a) : &7 2011 =01 SAGH SFEOETHR, TERrCW Al seEl Hafd SR w9 gag v feegnen
i
faea T (b) : ®7 2011 =1 e FTATHIER, TRRME eiehdeE= Fdd el S 9=a] Hais
Ferden! HIUR faur/ fasm s¥e 27=d ?

(1) T3 (a) SO F (b) faum I

(2) {9 (b) SO 9 (a) fau 9%

() = faun g%

(4) arE faum s

Choose the correct option considering the following statements :

Statement (a) : According to the final census of 2011, Mumbai sub-urban district had the highest
population density in Maharashtra.

Statement (b) : According to the final census of 2011, Kolhapur district is the fifth most densely
populated district in Maharashtra.

Which of the statements given above is/are correct 7
(1) Statement (a) is correct and Statement.(b) is false
(2) Statement (b) is correct and Statement (a) is false
(3) Both Statements are wrong

(4) Both Statements are correct

Freed] IS ST / SPACE FOR ROUGH WORK P.T.O.
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26. WEAATH FVK f99H g R 7

(1) oW FYEW TG FTHE SE.

(2)  vRaET 9T TEsE fRAReeag 12 i i o

(3) SO I9EEREA W F fTRER 9 o1,

(4) T GRS & STEERETE q-HHA IO 9EeE o

Which of the following statements is incorrect ?

(1}  The Lakshadweep island group is in the Arabian Sea.

(2) India’s maritime boundary is 12 nautical miles from the coast.
(3)  Andman and Nicobar Islands are located in the Bay of Bengal.
(4) India has a natural land border with Pakistan and Bangladesh.

27. YR A SRS WEAGRA HAR fadm FAET TUETe qaan sl ?
(a) T AT Fe &
(b) T W famr T2
(c) TTEHERT siexr= fas

(d) | SIS
warE 3
(1) (a) (&) (2)  (a). (b), (d) (3) (@), (b), (c) #) (o @

Through which of the following factors the fisheries development program is implemented
effectively ?

(@)  The Fishery Survey of India.

(b) National fisheries development board.
{c) Development of fishing harbours.

(d) Meat Marketing.

Answer options :

1 (a) (b) (2) (@) (B (@ () (a), ®), () ORRCACY

Bl BIHIETS! &7 / SPACE FOR ROUGH WORK
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28. WIol feoted TaAmIe Tyaa SeIMIdiel dald o Jal o) e ?

(1) Tt (2) e

@) ww (4) wew

Which is the longest river in the United States from the options below ?
(1) The Mississippi (2)  The Columbia

(3) The Snake (4) The Hudson

29. Wit S fau qerrerer aeEdtd 2011 T ST Siie SR ?
(a) CUHTET HERISZTE ¥ U FHiHish e
(b) = U =L T 365 TR
(c) & 82.91% R,
(@) feim Tuime 925 IR,

it 34y
(1) T (a), (b) W (c) (2) B (b), (c) 30 (d)
(3) R (a), () M () (4) b T

In relation to Maharashtra which statements are true as per 2011 census ?
(a) In population Maharashtra rank 2°¢ in Country

(b) Density is 365 per sq. km

(c) Literacy is 82.91%

(d) Sex ratio is 925

Answer options :

(1) Only (a), (b) and (c) (2) Only (b), (c) and (d)

(3) Only (a), (c) and (d) (4)  All the above

30. weq focema weiaie s fowoh et Few ared !

(a) S (b) SR () e (d) o

i I :

(1) @ @)sE) 2) FH () (3) T (b) @) (b), (o) s (d)
Coal is found at which of the following place in Chandrapur district ?

(a) Bandar (b) Ghoggus (¢) Telwasa (d) Wani

Answer options :

(1) (@ ®and(© (2 only (@) (3) only (b) 4 (b) (c) and (d)

o] HHETATS! ST / SPACE FOR ROUGH WORK P.T.0.
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31. FAMFESH B TGl i wad Wisha 8. W shesel SV Y& qUer gHelH 26 7

(1) 34 a0 wEiHd g

(2) ferer=h wrredt anftr e

(3) Tea el qamEmel M WAl

(4) =0«

Which geological evidence supports the notion that climate change is a natural and continuous
process ?

(1) Tree rings in high altitudes
(2) Glacial advances and retreats
{3) Sediment deposits in glacial lakes

{4) All of the above

32. wredie faymia foeam sa.
(a) T4 Stergarem 9EH IR AYTAHE GETHROIY] Hedl THION SafafSear $1Hd.
(b) IS IAER I SArga F SR wEEEern) Safafaedr Se wHrond SiE.
e HIR faer/faum swee oA ?
(1) % (a) (2) HE (b)
() (a) T (b) T (4)  (a) (O (b) SR T
Consider the following statements.

(a) High latitudes generally have greater biodiversity than low latitudes.

(b) Biodiversity is generally greater at lower altitude than at higher altitude on mountain slopes.
Which of the above statement/statements is/are correct 7

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)

BT BTHTETS! ST / SPACE FOR ROUGH WORK
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33. WG SOEHERA gde TUERY qodishd, 2l Sl aedie HUiARTEl System of Air quality, Weather
forecasting and Research (SAFAR) Sl €107 GIEATAYHT R TR TEAHES Hell 3K 7

(1) feoel, 9, TeugmER, Hag
(2) feoeh, =g, qaE, wRiewH
(3) feoeh, 4o, dmmEmE, I
(4) feoell, gag, SR, 91

Government of India has established system of Air quality, Weather forecasting and Research
(SAFAR) in which of the following four cities for research on air quality assessment, weather
forecasting ?

(1)  Delhi, Pune, Ahmedabad, Mumbai
(2)  Delhi, Chennai, Mumbai, Kolkata
(3)  Delhi, Mumbai, Hyderabad, Chennai
(4)  Delhi, Mumbai, Bangalore, Chennai

34, SR AR e HeWid Wield fasEn e &
(a) e AFEEEIER SR (Anaerobic) RIS 300 2.
(b) ST AaeE ST Fardl S Ha S e8] god TEgH SAeEs SoTs B,
eIl For faur/ A steT e ?
(1) W (a) (2) T (b) (3) (@) (b) FEET () ()T (b) T A

Consider the following statements regarding global warming :

(a) Anaerobic Methane is emitted with rice cultivation.

(b)  When nitrogen - based fertilizers are used, nitrous oxide is released into the soil.
Which of the above statement/statements is/are correct ?

(1)  Only (a) (2) Only (b} (3) Both (a) and (b) (4) Neither (a) nor (b)

35. PAN (JUadisrdena Tree) e R e aiondt aar 2l
(1) TS AeERe N Hew TEsiEaRe
(2) FEA HETEEe it srfker Higa
(3) TAREISH HIFEE S AR
(4) e anfty %M

PAN (Peroxyacetyl nitrate) is formed as a result of following interaction :

(1)  Nitrogen oxide and sulfer dioxide

(2) Carbon monoxide and volatile organic compounds
(3) Nitrogen Oxide and hydrocarbons

(4) Ozone and particulate matter

He] FTIRITE ST / SPACE FOR ROUGH WORK P.TO.
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36. i fiHdHE) gt ZRme 1 fereptaten s war fae s,
(1) el (2) wrepfas (3) UShA @) wmitSs
development is prioritized over environment degradation in energy generation.
(1) Human (2) Cultural {3) Political (4) Social
37. Se d=ate drseren sfeemed e aetEn o fadl o fraw 3a0 sTaeee g9 2
(1) 45T 50% (2) 35d50% (3) 4.0d5.0% (4) 45755%
What percentage of the rate of price increase was required to be kept as per the objectives of the
12% Five Year Plan ?
(1) 4.5 to50% (2) 3510 50% (3) 4.0to5.0% (4) 45to55%
38, WA UHIE SH FIOAEIET T 1995 HYA Bl 3@ie goA Al stegeidEne et
TYTI HTAT ST,
(1) Toer (2) F (3) IS = (4) = SE
To study the problems of India in the year 1995 committee was formed under the
chairmanship of Dr. Abid Hussain.
(1} Education (2)  Agriculture (3) Large Industry (4) Small Industry
39. FH=Rl wiawfate el s HY OGRS,
{1y 1950 (2) 1952 (3) 1960 (4) 1981
The Employees Provident Fund Act was made in .
(1) 1950 (2) 1952 3) 1960 (4) 1981
40. ghesio e o .

(a) 201 25 A9rErS! e .

(b) el T8 15, 20 T 25 auren wenadiard! sFs StEl.

(c) 15720 Fu=n S FAGEE TF L

(d) =T IeEw SN Fez U fhal T J9a W

Tater 3

(1) e (b) (2) 9 (a) (3)  (a) 7 (¢) (4) (o) =001 (q)
Perspective Planning refers

(2) Long run planning for 20 to 25 years.

(b) Long range targets are set in-advance for a period of 15, 20 or 25 years.

() One plan for entire period of 15 to 20 years.

(d) Broader Objectives and targets are achieved within one or two years.

Answer options :

(1) only (b) (2) only (a) () @and () @) () and(d)
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41. Toi=n fEumes ISawar FH 8 HE

(a) Toraromges fesaten wm=n 4 gRar.

(b) Torafra fesian vam:=n qan-it forsfa =@ e

(c) Toraror anfon waren fopim mHfvesawdl i TR e

(d) Formi= el fead goma, -

T I

(1) (a) =00 (b) (2) ®S (0 (3) () =foT(d) (4) (o) = (d)

Education for women reduses fertility due to

a

{a) Education improves work opportunity for women.

(b) Educated women want their own children to be educated.

(c}  Education and literacy make women more receptive to information about contraception
(d) Improving economic condition of women.

Answer options : L

1) @and() () Only(© () (Gpand(d @) () and (d)

42. ST HY WA TR FHEY B
(a) T AT oA ST IS BAA.
(b) mmmammmﬁﬁmxﬁﬁ
(c) T SR, T, TY & WSren Taie | IereH 2o,
(d) T T, T, FUE TaTe, WIS, Fos, T, HIH 2. OO WG I9cTed 2.
Tt 3L ,
(1) e (d) 2 @sm®) (@3) (a), (B) I () (4) (a), (b), (c) I (d)

Food security includes following stages :

(a) Adequate availability of foed grains to all.
(b}  Adequate availability of food grains and pulses to all.
{c} Adequate availability of food grains, pulses, milk and vegetables to all,

(d) Adequate availability of food grains, pulses, milk products, vegetables, fruits, meat and fish
etc.

Answer options :
(1) Only (d) (2)  (a) and (b) (3) (@) (byand (¢) (4) (a), (b), (c) and (d)

eyl HIHATS! I / SPACE FOR ROUGH WORK P.T.O.
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43. TR fadet Atem wa sufd fashram sl YA qETe ol SremEl.
(a) fqares gfiome Fegy &es fawdrss gfioms gare .
(b) fereartes qioms fasgy &% giaens qiond g9t Sl
(c) wiqerss gitomy anfe forsien aitoms g9l ol
(d) Tomres gftom s wicane aions fmsy .
Tt 39
(1) &IB () (2)  (a) ¥ () (3)  (b) 3 () (@) (o) = (d)
According to Gunnar Mirdal the role of Govt. in economic development should be as follows :
(a) Effecting the spread effect by neutralizing backward effect.
(b)  Neutralizing spread eftect by effecting the backward effect.
()  Effecting spread effect and backward effect.
(d) Neutralizing spread effect and backward effect.
Answer options :
(1) Ounly (a) (2)  (a) and (c) (3)  (b) and (c) (4)  (c) and (d)
44. iRl 0 329 (Poverty Cap Index) &1 frasi® wicfietisn! siveat sRUMES! w@el I, 37 a9 9
HTTEA e @1 Hiftrded ?
(1) TR G ST Tohdl S g2 987 R and ?
(2) TINET T HoHrERiE fFdl 3=Nda e ved wierdl anle ?
(3) TEe g wwmsRia fdt 2 sor ol 91 &dl ane ?
(4) TRl FIEET ATE
Gaurav Dutt and Martin Ravalin said that Poverty Gap Index is calculated for which of the following
reasons ?
(1) How much calories deficit needs to be made up to eliminate poverty ?
(2)  How much income would be needed to cover the deficit to eliminate poverty ?
(3)  How much increase in per capita income will be required to eliminate poverty ?
4) DNone of these
45. WA Srel AT e AR Ui AT SaRITER o= §E0 9 Heelie vIEe! (Sl aaist, Jd

T3l AT FoR YEATT HLUA A ?
(1) 22 SM&ERI 2016 (2) 22 SHERI 2018 (3) 22 SHART 2015 (4) 25 SHAERT 2015

When was the 'Beti Bachao, Beti Padhao” campaign launched for the protection and empowerment
of the girl child as per the last revised statistics of child sex Ratio in India 7
(1) 22 January 2016 (2) 22 January 2018 (3) 22 January 2015 (4} 25 January 2015
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46.

47.

21
ey < qEie Semio HaoleA 3THd.
(a) Tl SR SIS S TS ST
(b) AT TR AIEUAHST IATE TR AR
(€) T AT T JAH HEA 3T a1 e TGN AL,
(d) SIYIF TS WIS 7 AR gRfEerd ot 2iied €,
qaiet 39N
(1) Fe (o) 2 @em®) (3 FES(d) (4) (a) 3fT (d)
Relative poverty depends on following factors :
(a) The human body needs calories every day.
(b) Income is necessary to meet basic needs.
(c) Comparing two income groups, the lower income group comes in poverty.
(d) Poverty is the condition of not being able to meet the basic needs.

Answer options : o
(1) only (c) (2)  (a) and (b) (3)  only (d) (4) (a) and (d)

felw af=n od dwdea el ae &

(a) foawfaa Toma w==IRE TaavErn I 3% .

(b) HAGHMA A U [FFURRIT Ui 3% THd.

(c) Toefasd <wmg shae YA aaUERen W 36 T,

(d) Toorfoa Som @EIRE agueien FedEa Fd.

At I

(1) (a) 0T (b) (2) FaB (d) (3) F (a) (4)  (b) 000 (c)
According to Higins Population growth can be

(a) A motivator for autonomous investment in developed countries.
(b) A motivator for induced investment in under-developed countries.
{¢) A motivator for only induced investment in developed countries.

(d} Demotivate for autonomous investment in a developed countries.

Answer options :

(1) (a) and (b) (2} only (d) (3)  only (a) (4)  (b)and ()
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48. A YHSIE A wdifyE 92 o1 feetr e,
(1) st anfy Hevaes &
(2) otifen snfon HReiags e
(3) S &
(4) EE 0 HevEe &
The largest share of allocation in the Seventh Five Year Plan went to the :
(1) Agriculture and Communication Sector
{(2) Industrial and Communication Sector

(3) Energy Sector
(4) Transport and Communication Sector

49, SAUIMER T FAUH T HIUR M6 L 790 11 vl et 38 ?

(1) Twrel 9 mem (2) o= 3 Fef ARy
(3) IS T TR (4) HatelH g e
Who has criticized that economics is a Kuber worshiping science ?
(1) Ricardo and Malthus (2) Keneys and Karl Marks
(3) Karlail and Raskin (4) Chamberlein and Robinsons
50. <A1 QAT 391 feraeonaed sucfaes T 49 SR KT AU T STEAL.
(1) & (2) oo (3) HHA (4) fage
In a Society where the income distribution is excessive the handful individual there
has unlimited money.
(1) Equality (2)  Asymmetry (3)  Deficiency (4) Abundance

51. Y theholedl &= Tl 971 3T Wy = o fovdl 3T ?

1) =

(2) ¥Fq

(3) EREON TeE e

4) T

A particle thrown up has zero velocity but how much will be the acceleration ?
(1) Zero

(2)  Infinity

(3) Equal to acceleration due to gravity

(4) One
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52. WA HIZ FATC] GHISHIIT=T 3UANT TR ?

(1) ufeRet g (2) ==

(3) TR T (4) et HIVE R
Which one of the following is not an application of Bernoulli equation ?
(1) Aspirator pump (2) Ventury pump

(3} Speed of Efflux (4) None of the above

53. Wefidre TIHMER (300 %) THIgR Scdfoa S sfrefa yRomHEt weeyrt dreH Tomaid i o 2
(1) 500+ HET  (2) 9550 9 HRT (3} 1500 T HEX  (4) 3000 A HX

At room temperature (300k), what is the significant contribution wavelength for the thermal
radiation emitted by a body ?

(1) 500 nm (2) 9550 nm (3) 1500 nm (4) 3000 nm

54. AT HIVM TR FYehid TR ?

() eS¢ Wl 8 T e ST,
(I)  WIHER gA9R ST,

(1) TeisReiMay TUTMR 319!,

(IV) gelFal g9 3Edl.

wafHdt Y

(1) @p=an (2 (=) (3)  wH (D) (4) W (V)
Which of the following sentence is wrong ?

(I)  Atomic nucleus is made up of protons and neutrons.

(I) Proton has a positive charge.

(II) Electron has a negative charge.

(IV) Neutron has a positive charge.

Answer options :

(1) @hand (@)  (2) (1) and () (3)  Only () (4)  Only (IV)

Freed] HTATETS! ST / SPACE FOR ROUGH WORK P.T.O.
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55. @l faum Te ) atmer d o

(1)  emsmen THITETE] WA TS ST,

(1) SIS FHEw 523 € Uad o,

(L) 3= drear siavareas! efusa © uwes s

AN IR
(1) (@), (1), (1) =FE A2, (2) R (1), (1) TR ST
(3) A (II) SE AT @) (), (10, (1) FFrE .

Say whether following sentences are true or false :

(I)  For propagation of sound modium is necessary.

(IT)  Unit of frequency of sound is Hertz.

(IIT) Loudness of sound is expressed in decibel unit,

Answer options :

(1y (1), d0), (I are true (2)  Only (1), (1) 1s true
(3)  Only (1) is true 4y (), dh, () are false

56. WIS HIOE GOTeE! Tgidien THZs SeRTST S EvaEE! ST ?

{1y e are (2)  IH FnEE

(3)  &-feprm s (4)  HEER] ATl

Which of the following wavelengths are used to study the crystal structure of material ?
(1) Ultraviolet wavelength (2} Gamma Rays wavelength

(3) X-Rays wavelength (4) Infrared wavelength

57. T% s AT &ie 71 UN IR SV Feite Sais THd gl 2

(1) gumTEE Zigism (2 smedaar 2T

() AT Tar (4) BT geEET

Leaf Blight of wheat is caused by infection of which of the following fungus 7
(By  Uromyces tritic (2)  Alternaria friticina

(3)  Ustilago nuda (4)  Helminthosporiunt sativum
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58.

59.

25 A
FHored favmmdiel aFeadi=n aeadlye SR 3 Ted W ?
(1) S (2) ZfermmEe (3)  SFAeTsitett (4)  Sngsi
Which division of Plantae is called amphibians of plant kingdom ?

(1) Bryophyta (2) Pteridophyta  (3) Gymnosperm (4) Angiosperm

"y G AT wrEd ar et R A Hgads o, SyEie faumiEt Has aa.

(a) ‘o’ = WEd I i ¢ gEesiarEe’ = Hiheed Al el STYH o Ul "M STaHiad!

(by e’ = G SR e ' e drEE | = Ale WA SAciel ST T Tohl WHTRT SaniEd
TErBeedl 3.

(c) 1 T Hredl THHHRN ST A T 311ed 1 IS TeH ez Hiea o raerdH = dea
Hreelel o,

() T e G o T A SR e S 3 e de e el
e,

TEtEr 3w
(1) K (a) 9 (b) W L. (2) K (b) T (d) HIHF T
(3) TR (a) T (c) GIHIF TR, (4) T (c) T (d) HIFNS® .

With respect to structure of DNA, following four statements are made. Choose the two relevant
statements.

(a) DNA is made of two long chains of nucleotides coiled in a helix around a central axis.
(b) DNA is made of two long chains of nucleoside coiled around a central axis.

(c) The two chains are complimentary to each other so that Adenine is always paired with
Thymine and cytosine with Guanine.

(d) The two chains are not complimentary to each other where Adenine is paired with uracil
and cytosine with Guanine.

Answer options :
(1)  Only (a) and (b) is relevant. (2)  Only (b) and (d) is relevant.
(3)  Only (a) and (c) is relevant. {4)  Only (¢} and (d) is relevant.
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60. TAST 9 Yo Aiem Hel Tagiareaa Ereiaisn! swon fEaum g o7ed ?
(a) Td Tl U e o7 Tl S erel ST
(b) T Ul gE rfiqem srdeten el U 99w giam.
(c) Usf=n vwrafTeh T onf waTTeR i TEYd WU SR |
(d) warEn Stare e € wmfes Trashand oaftr wren Tt HoEEral WeR |9are SEdl,
TgtEr S
1) @3E) @ @O G) ()M @) T ad
Which of the following statements are correct about the cell theory of Schleiden and Schwann ?
(a)  All living things are composed of one or more cells.
(b)  New cells are formed from the pre-existing cells.
{¢) There are basic similarities in chemical composition and metabolic functions of cells.

(d) The activity of an organism is collective activities and interactions of its cellular structures.

Answer options :

(1)  (a) and (b) (2) (a), (b)and (c) (3) (a), {c)and (d) (4) Allof the above

61. Welterient shiowt woft Geht amidite] e 2
(1) e, fifew, o, safmiey
) zEfumfes, feudhd, &eed, SHE™
(@) i, T, safrien, T
(4) AE, fafiew, fewdhmy, stem
Which of the following animals belong to same class ?
{1} Torpedo, Pristis, Hippocampus, Ichthyophis
(2) Ichthyophis, Hippocampus, Calotes, Anabas

(3) Calotes, Pristis, Ichthyophis, Hippocampus
(4} Torpedo, Pristis, Hippocampus, Anabas

62. 'TER' A el Ue1e GUR H{UATHIET FIVET GTEIdral 37 /Tl arden Sl 2
(1) weEdEdEE (2) wEE e (3) TEAHAES (4) W
Which plants extract/latex is used to prepare a narcotics called Heroin ?

{I) Poppy plant (2) Coca plant (3) Hemp plant (4) Bajra
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63. T 3 U A=A TS 3 WY AMATA S A T SHa FIOAEIS] Gieiter e Jeoat :

W F. - 1 aTSr ®. - 2
(a) IR HTH 1)  fefaen-fraen
() TE (i) TS
(c) W (i)  ToRHL
(dy Tesi-srem (ivy f&q =i
Tt 3at

(@) (b) (o)

(v () @)
(2) (i) @) )

@ ) 0
@ 0 @ (v ()

Match the following to express general resemblance between bones and girdle fore limbs and hind
limbs.

List no. - 1 List no. - 2
(a)  Shoulder joint {iy  Tibio-fibula
(b) Humerus (ify Knee
(c) Elbow (i) Femur
(d) Radio-ulna (tv) Hip joint

Answer options :

(@ (b) (o) (d)
1 vy @) @ )
(@ @y @ ) @
@) @ ) @ @)
@ @O @ Gv) ()
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64. WEdh! Hivd Taum dar o2 ?

(a) HITET YETHE THI 208 L A,

(b) Tk oAty Fg=E B € AT ST 3aTe SR,
T 39

(1) (a) A (b) (2} B (D) (3) P (a) (4) SR OHE T
Which of the following statements is true ?

(a) The adult human skeleton consists of 208 bones.

(b)  Vertebrae and facial bones are irregular type of bones.

Answer options :

(1) (a) & (b) (2)  Only (b) (3) (@) only (4) Neither of the two

65. @reire faum fa=mm =
gaEE Afafeaar € a
(a)  SATTHATRIGRIZ HEd= JHNE sqed,
(b) SAfulRaERREFE! et aefaa i, HHl 2.
(c) THN FAefael i, areal.
(d) TIEE FRfES F, HH M.

)
)

FUATHT I faem/ faam FieT o 2
(1) %= (b) (2) T (d)
(3)  WheKI (a) AT (c) (4)  H (b) S (d)

Consider the following statements :

Rate of a chemical reaction is __

(a) proportional to the concentration of reactants.

(b} decreases on increasing the concentration of reactants.
{(c) increases on increasing the temperature.

(d) decreases on increasing the temperature.

Which of the statement given above is/are correct ?

(1) Only (b (2) Only (d)

(3) Only (a) and (c) (4) Only (b) and (d)

el HIHTETS ST / SPACE FOR ROUGH WORK
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66. TOATIE TaTe STNIIHES AASIRARTA STEiea ST S afTey FHITAEE! o THE SR ?

(a) Y (b) g frae

(c) Thesh 11w dfen (d) SHIMNH EAZFRES
it S

(1) W (o) (2) I (a) ST (d)
(3) I (b) (4) w0a

Which chemical compound is used to neutralize the acidity of soil increased due to excessive use of
Chemical Fertilizers ?

(a) TPotash (b) Lime water

(¢) Milk of magnesia (d) Ammonium hydroxide
Answer options :

(1) Only () () Only (a) and (d)

(3)  Only (b) (4) Al the above

67. TWITIE FII /ST et/ Sren @i ST AT Fevde! TEARE S o
AT ST 7

(A) Cu 3 Au  (B) Co 300 Ag (C) Audnf® Ag (D) Na 30 Hg
Tt I

(1) == (A) =i (B) (2) W ()

(3) e (D) (4) T (C) for (D)

Which of the following pair/ pairs of metal/metals can be extracted from their ores by using cyanide
complex solutions ?

(A) Cuand Au  (B) Coand Ag (C) Auand Ag (D) Naand Hg
Answer options :

. (1) Both (A) and (B) (2) Only (C)
(3) Only (D) (4)  Both (C) and (D)

Heed] DIETETS ST / SPACE FOR ROUGH WORK P.T.O.
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68. wete vamafas Afufsmar Sven Yo died o e ?

2KC103(5) A ZKCI(S) +302 T

(a) SeAIEE] HATafwa (b) Tomenya sfufsran

(c) o= sfufwa (d) SR vl SAfufma

TgiEt I

(1) $F (o) (2) ™ (b) (3) P (a) ST (d) (4) TPE (a)

Identify the type of following chemical reaction.
2KC103(3) _—A_H} 2KC1(S) +302 T

(a) Exothermic reaction {(b) Displacement reaction
(c) Decomposition reaction (d) Photochemical reaction
Answer options :

(1) Only () (2)  Only (b) (3)  Only (a) and (d) (4)  Only (a)

69. WIEHATH! IO THEAFHA g TN 31 TUrdTd ?

(a) wWerEw (b) =gftem (c) Tetzm (dy et FEE A

vt I

(1) % (o) (2) W (b) (3) K (d) (4) I (a) AT ()

From the following which isotope is called as heavy hydrogen ?

{a) Protium (b)  Deuterium (c) Trifium (d) WNone of the above

Answer options :

(1) Only () (2)  Only (b) (3)  Only (d) (4)  Only (a) and (c)
70. T A It SEHYR ST HSvAETd] arRdTd.

(1) WU 7 (2) SEIEH g

(3) oIl HeA (4) foedfear ge0

_ is used to estimate the presence of unsaturation in oils and fats.
(1) Saponification value (2) lodine value
(3}  Acid value (4) Viscosity value

Teed] BTG ST / SPACE FOR ROUGH WORK
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71.

31 A
e Wifedt sTgEen i RIeRE Fom GiEds wrefieis! S0 qew AR ?
(A) daguE
(B) weraydia fadh =
(C) TeFmadta fadd A
(D) dawarig TMiTaiea e Hfare w6t
(E) TREl FHIId!
Tt 3
(1) (A), (B) 37T (D) (2 (A), (B), (O) =% (E)
(3)  (A), (B), (O) #1fw (D) (4) (A), (B) 3 (E)

Who among, the following are members of a Committee that recommends the appointment of the
Chief Information Comumissioner ?

(A) Prime Minister

(B) Leader of Opposition in the Lok Sabha

(C} Leader of Opposition in the Rajya Sabha

(D) Union Cabinet Minister nominated by the Prime Minister.
(E) Speaker of the Lok Sabha

Answer options :

(1) (A), (B) and (D) @) (A), (B), () and (E)
(3) (A), (B), (C) and (D) (4) (A), (B) and (E)

72,

IRATeAT TTEEANE ShI0edl Herdid TRar T it Tererarafiars a1 Teret e o7R 7
(1) Fad 148 (2) HETH 343 (3) HEH 266 (4) THeH 248

Which Article in the Constitution of India provides for the Post of Comptroller and Auditor General
of India (CAG) ?

(1)  Article 148 (2) Article 343 (3) Article 266 (4) Article 248
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73. 'HvEMe Ml Geow@Ed weld fau faena e
(A) HETE WIZen B WRaTd FUARIEY 21, 1 A SqersiEl 13 Eiare) Seardier]e =@,
(B) I 5% Hel =i dgndar "eAdier Hayd Sy gt (Basic Structure Doctrine)
waye g,
Q) = W ey geREe o sRere T
(D) eI Wl B AT eh [0 IRV 0N TRTaL.

AT FIor faum famrees o1 /a 2
(1) (A), (B) =0 (C) (2)  {B), (C) =for (D)
(3) %9 (B) () (A), (B), (C) @wor (D)

Consider the following statements regarding ‘Kesavanand Bharati’ Case :

(A) This case was heard by the Constitution Bench of 13 judges headed by Chief Justice of India
AN. Ray.

(B} In Seven - Six majority, the bench outlined the basic structure doctrine.
(C) This case changed the decision of Golaknath case.

(D) This case seems to be the instance of judicial activism.

Which of the statements given above is/are correct ?

(1) (A), (B) and () () (B), () and (D)

(3) (B) Only @) (A), B), (O and (D)

74, A 3 et weieris] i sfsmrrged savad e A8 ?
(1) w\Rar a1t Teeren 9

(2)  9RET qe2ud!
(3) WA §EY
(4) YRA dagEH

The Contingency Fund of India has been placed at the disposal of which authority among the
following ?

(1) Comptroller and Auditor General of India

(2) President of India

(3) Parliament of India

(4) Prime Minister of India
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75. FEHUSORE AviEmiEedide T wee’ wed e SonT faem 9w sed ?
(A) wrmE Ter fAshe et e 1994 75 fae,
(B)  STeehsHTd TR TSt ATV Teard Toail Far=l =R i Al 3% Teh.
(C)  Teles THIU FHAAT LI T ATV e Tare e g Jenr= Hofd g % k.
(D) TeHUATe faEma STETE HIoar= Seee HeH! A=Al 5ol Ay 379,

gIidr I
(1) T (C) F (D) (2)  (A), (B), (C) &7foT (D)
(3) T (B), (C) 1 (D) (4) T (A), (B) YT (C)

Which of the following statements are correct regarding the ‘Bommai Case” in reference to the
Emergency in the State ?

(A) The ‘Bommai Case’ Judgement was delivered by the Supreme Court in 1994.
(B} States can appeal to the Supreme Court when President’s rule is introduced in the States.

(C) 1f President’s Rule is imposed without valid reason/s the Supreme Court can quash the
decision of the Central Government.

(D) An order to dissolve a State Assembly requires the approval of the Parliament.
Answer options :

(1) Only (C) and (D) 2)  (A), (B), () and (D)

(3)  Only (B), (C) and (D) (4) Only (A), (B) and (C)

76. IR SEl 3

(1) S 22, 1947 - dfaym g9gEn Tl Wik,

(2) SR 24, 1950 - digur 9Ygan Tl SR,

(3) AT 25, 1950 - YEARER U feaelienen e

(4) SEH 26, 1950 - WYEEEE T e i,

Identify the incorrect pair :

(1)  July 22, 1947 - Adoption of National Flag by the Constituent Assembly.

(2) January 24, 1950 - Adoption of National Anthem by the Constituent Assembly.
(3) January 25, 1950 - Adoption of National Calendar by the Governmeni.

(4) January 26, 1950 ~ Adoption of National Emblem by the Government.
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77. HRAMIE HSAGER HeH Wied faum/ faumi=t S aarn enfin 9w gl freer

(A) 10 = YSAGERIER et d R gl € Yoyl WHdTH Sieuam ST,

(B) 11 =1 HEZHGERITHR &F, THOI o Tl § Fa3 YN ASvam 3.

(C) 15 =41 AR heynfed Feeine] fadiHgsar ®na #vam e,

(D) 22 = SREAGEITIR Heerd a1 T (i shtvand a1,

tl'ﬂf?‘ﬂ 3’1"!:!‘ :
(1) (A) fn (C) s (2)  (B) 3001 (D) SR
(3) (B) 3 (C) =k (4)  (A) afor (D) s

Consider the following statement/s regarding constitutional amendment/s in India and Choose
the correct option/s.

(A) Dadra and Nagar Haveli territories were included in India as per the 10" Amendment.

(B)  The territories of Diu, Daman and Goa were included in India as per the 11" Amendment.
(C) Legislature was established in Union Territories as per the 15" Amendment.

(D) The state of Meghalaya was created as per the 22" Amendment.

Answer options :

(1)  (A) and (C) correct (2) (B) and (D) correct

(3)  (B) and {C) correct (4)  (A) and (D) correct

78, Hara TIfEd! SRNIHE] UF A Hifed! g aNfor Sedia < fehdt mifed! spei=n Sy Sl ?
(1) = wfed ST (2) =@ A SUgE
(3) @@ ArfEdl g (4) @3 Tifgrt sy

The Central Information Commission includes cne Chief Information Commissioner and Maximum
how many Information Commissioners ?

(1)  Five Information Commissioners (2) Ten Information Commissioners

(3) Six Information Commissioners (4) Eight Information Commissioners
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79.

35 A
YR AR Jrefterent ard fagr/ faum =i ?

(A) HRAHE Tahd A TG ..

(B) Titehcet ShTAET 1955 Helt §HA HI0FMA ST

(C) I Too=ed=al U1 4 W NTisheara] TG 3.

gt S

(1) W (A) S (C) RN (2) T (A) TR

(3) T (A) M (B) SR (4) T ad TR e
Which of the following statement/s is/are correct regarding the citizenship of India ?
(A) India has single citizenship system.

(B) Citizenship Act was passed in 1955.

(C) Part 4 of the Indian Constitution provides citizenship.
Answer options :

(1)  Only (A) & (C) Correct (2)  Only (A) Correct

(3) Only (A) & (B) Correct {(4)  All of the above are correct

~80.

TEIEEdS I e Il IMHre FaSue ATt e i 2
(1) oM 124 d 128 (2) e 324 d 329
(3) AT 256 d 259 (4) | 274 d 279

Which Articles in the Constitution provide for the electoral system in our country ?

(1)  Articles 124 to 128 (2)  Articles 324 to 329

(3) Articles 256 to 259 (4) Articles 274 to 279
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81. NHTE ToEa SHTUM T4 T1Yd Fld 7eorid
(A) T=a USR] S1edid gH=A1 STHaT 9e9E i,
(B) T Fivrearel fafere emfen swrsham AT SUar el SR,
(C) = Hd guiAT 9HH T, ‘
(D) W S FGT A TS H0A WA 3T,
(E) RIVIATEl afanaiterare, Haforer deen enfier famor (foreram) Soam w@es s1=q.
RIS i
(1) (&), (B) & (©) (2)  (B), (C) snfor (D)
(3} (A), (O, (D) = (E) @)  (B) = (D)
The Indian Constitution establishes a secular state, meaning :

A) The state makes discrimination on the basis of religion in matters of employment.

B

—

The state avoids preferential treatment for any particular religion.

N

(
(
{C) The state treats all religions equally.

(D) Freedom of faith and worship is allowed to all the people.

(E) Educational institutions, without exception, are free to impart religious instructions.
Answer options :

(1) (A), (B) and (C}) (2)  (B), (C) and (D)
(3} (A} (©), (D) and (E) (4)  (B) and (D)

82. IV HEAGERIT HAEEal faeeliel TS 99l &5 eo 78 ?
(1) 63 o SEAGEl hraal (2) 69 S HEAGEEI Il
(3) 91 = HAGER FHAT (4) 93 Sl HAGE! S

Delhi was called National Capital Territory by which Constitution Amendment Act ?
(1) 63" Constitutional Amendment Act (2) 69" Constitutional Amendment Act

(3) 915 Constitutional Amendment Act  (4) 93" Constitutional Amendment Act
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37 A

‘ofee diadEn’ Hevla Tt fay™ fo=mm =1

(A) 25 SRR 1951 U 21 Fgarl 1952 A1 FHelafdd Foedl dar=i feedl wafe faguEia
17 Ufoe 1952 STt ufgearial el =] TATa1 Hoard ST,

(B) dfecan dremade ufee sifedee 13 7 1952 st g& e,

(C) dfeean AhEYA STIa e qul en ST ot 1 wfira 1957 =i faafsd s,

(D) <t .=, Aideve § ufeed Auas ST 9T g

STF o fayum/ S ey o/ T 2

(1) a2 (A) (2) (A smB (3 (B, (O (D) (4) %9z (D)

Consider the following statements about First Lok Sabha :

(A) The first Lok Sabha was constituted on 17 April 1952 after India’s First General Elections
were held from 25 October 1951 to 21 February 1952.

(B)  The first session of first Lok Sabha commenced on 13 May 1952.

(C) The first Lok Sabha lasted its Full tenure and dissolved on 1 April 1957,

(D) Shri. G.V. Mavalankar was the First Deputy Speaker of First Lok Sabha.

Which of the statements given above is/are correct ?

(1) (A) Only 2 (A)and(®) () ), Qand(D)  (4) (D)Only

84,

IRArde fafay uga smarm=a wevia @reita aXgel fa=mm =0
(A) 9T ToT=e=0 % 339 R ATgfaq Sl i1 SHIASIE! T ST S99 Hvard
AT

(B) ‘U Afgen 1AM AfufEm 1990 THR U Afeet STErm=’ TUT9 0T T,

Q) 'UEM eEEEe AFm AffEm 1992 R LR ATTHEAE SAEATE! TIAT FI0GT ST,
(D) 27 fediar 1993 IS ‘UG HFSITYER SR T FIUANERH STHARY) HITUAT 3TTell,
FHAURT ST TGS/ TR IO/ ] AT/ 3T 2

1 @etn©Q @ @D @) (&) A D @ (B) Q)
Consider the following provision/s with respect to various ‘National Commissions’ in India.

{A) ’National Commission for Scheduled Castes and Scheduled Tribes” was established under
Article 339 of the Constitution of India.

(B) The 'National Commission for Women’ was established under the ‘National Commission for
Women Act” 1990.

(C) The ‘National Commission for Minorities” was established under the ‘National Commission
for Minorities Act’ 1992,

(D) On 27" December 1993 an ordinance was passed to establish the ‘National Human Rights
Commission’.

Which of the above provision/s is/are correct ?

1) ®and(© @ Bad@® () @ad® (@ (B)and (©
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85. TRIVRI helH I ™ Held AfueEen sicsraEead! e St soarn s 3 ?

(1) e 226 (2) R 135 (3) o 143 (4) e 133

Which article empowers the High Courts to issue directions for the enforcement of Fundamental
Rights ?

(1) Article 226 (2) Article 135 (3)  Article 143 (4)  Article 133

86. HYL I SAAFS TAAHE T, AT WA 1 T AT ?
(1) M SEEEE BUA e .
(2) & formr 2 o o T A
(3) = ST 1924 HED, WREAR fSiegirdlet Wa T S,
(4) T 1952 < T fouray frasum auwige waer gergd et .
Karpoori Thakur was recently in news. Which of the following is not true about him ?
(1) He is also known as ‘Jan Nayak’.
(2) He was First non-congress Chief Minister of Bihar.

(3} He was born in 1924, in a village in Samastipur District.

(4) He won State Assembly election in 1952 from Samastipur Constituency. -

87. Sfaen g FRene 2023 WY R fehaan sl oFmal ?
(1) 100 (2) 111 (3) 101 4) 123
Which is the India’s rank in global hunger Index 2023 ?

(1) 100 @ 111 3) 101 (4) 123
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88. UEtede! Ay faum fa=mm =

(a) e HOSHE TG SRS R T € U oft fegrar Heheuder sneifid oT.
(b) TEAGH T YRA T Fel hiare] Heheae a2,

(c) oI HUSWIAT IgHRA 28 W 2023 USH H{vard AT

(d) ciERayT STeag=n Fen Ufqeiae STRie <shiel TT91 hell 71,

watdt 39 :

(1) T34 (b), (¢) T e

() faum (), (), () T o

(3) fauM (b), (o), (d) A= e

@ @, b) () () T3 e

Consider the correct statements given below :

(a) The interior design of Lok Sabha in the new Parliament is based on the theme of National
Animal Lion.

(b) The design of Rajya Sabha is based on the theme of India’s National Flower Lotus.
(c) The new Parliament building was inaugurated on 28t May, 2023.

-~ (d) The historic Ashok Chakra has been installed beside the speaker of Lok Sabha.
Answer options :

(1) Statements (b), (c) are correct.

(2) Statements (a), (b), (c) are correct. -

(3) Statements (b), (c), (d) are correct.

4) (a), (b), (¢), (d) are correct.
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89. e il Wyl - 2023 fowdt T faum siean
(a) = el =t simgs m fosmt wiauam ste.
(b) STHIEA YO AT AT A1 ARSI YRATh A ST YiHeRT Ssfaa.
(c) o1 TaEq 28 FATUSHITE WRAH A TR TeHEE,
(d) 0 TEd T 107 Yk qRare fHeared.
it I

(1) (@ ®) (© (2) (@) (b), (d) () (b), (c). (d) @) @ ) @

Identify the correct statements regarding Asian Games - 2023.

(a) This competition was held in Hangzhou, China.

(b}  Shooter Lovelina Borgohain played a role of flag bearer for India at the time of inauguration.
(¢) India got 4 position with 28 gold medals.

(d) India got total 107 medals in this competition.

Answer options :

(1 (&) B () (2} (@ (b) (d) @) (b), (c) (d) 4) (@), (). (@)

90. I FHer @A
(a) AAFTE Hgmel A Fee A [WERR, 2023 S AR Sl
(by TG AEEl &1 HHA | "l gae diwa qiEnel SR
(¢} TS mewdt a1 o danet 4 we Foied fethed oie gua TRe 9@, 2004 A HEWrT

G
et 3w
(1) &R (a), (b) (2) W (b), ()
(3) wF (a), (o) (4) wer wd

Select the correct statements :
(a) The Nobel Peace Prize, 2023 was awarded to Narges Mohammadi.
(b) Narges Mohammadi is a champion of equality and women’s rights.

() In 2004, Narges Moharmmadi joined the Defenders of Human Right Center founded by Shirin

Ebadi.
Answer options :
(1) Only (a), (b) (2) Only (b), (¢)
{3) Only (a), (c) (4)  All of the above
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91, I 3TaUe GEUT YA 91 f5ya snfec-Ta 1 X @8] Savuie Heg &3 ?

(1) = 2) TuET (3) St (4) =wraHETy
Which space agency helps India in tracking the Solar Mission Aditya ~ 1.1 ?

(1) NASA (2) ESA (3)  JAXA (4) ROCOSMOS

92, ART HH HB@ (TEH TEHR 2024) :
(a) TIHE 30 YIRRR Y] Afgal .
(b) THE 6 TEH fayNY TEHR SRR e Tl
(¢) 17 ueH 9ol 370 110 TgHH Jh SR HT0am 37,

Tatdt 39T
(1) % (a), (b) (2) W (b), (c)
(3) ®H (a), () (4) Sl wd

Select the correct statements (Padma Awards 2024) :

(a) 30 of the awardees in it are women.

(b) 6 Padma Vibhushan award were declared.

(c) 17 Padma Bhushan and 110 Padma Shri awards were declared.
Answer options :

(1) Only (a), (b) (2)  Only (b), ()

(3) Only (a), {c) (4)  All of these

93. R FIfGa ATk Sfeare=n ' AAawrga gwia qiug 2023 2 ST I et He ?
(1) it fawed (2) T (3) I (4) e
Bar Council of India’s ‘International Lawyers Conference 2023” was inaugurated in which City ?

(1) New Delhi (2) Mumbai {3) Kolkata (4) Bengaluru
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94, UEIIGIA YA AP ich=aT TS Usiaerean Qifgd enfor 2w a=an |9rg Siregn e

A (HifEmT) B (3¥1)
(a) ST 3757 @ T
(b) ST W (i) woEd
(c) S reiert (i) HEH
(d) RIE FHIS (iv) MO
i 3T
(@ (b) (9 (d)
0 0 @ G )
2 @ @ @) @
(@) ) @ (v) (i)
4) (v (@) @) @
Match the country and the Operations undertaken to protect Indian Nationals Abroad.
A (Operations) B (Country)
(a) Operation Ajay (i)  Ukraine
(b)  Operation Ganga (i) Israel
(c) Operation Devishakti (i) Sudan
(d) Operation Kaveri (iv) Afghanistan

Answer options :

(@) (b) (o) (d)

€ @ @ @) (i)
(2) (@ @) @) @
() @ @ (v ()
(4)  (v) (@) @) ()
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95. oTeliew sifevrsa qEE=A], Feamsl ool =) 99T g sl 2N, A1 /= qrefas e/
UL ?
(a) Tel=n 3= foeronen S 2.
(b) T HIAT ST TR =41 HTHTHE U FT0,
(c) Torumea gefian Asmrsan Tt s9cres % 4o,

(d) TTHOT T T G edl.

Whﬁ' ?ﬁﬁ' :
(1) T (a) TS L. (2) T (b) IR AR,
(3)  (a) 3T (d) A TR, (4)  (c) M7 (d) TR TR,

Recently, Odisha Chief Minister has launched-Mukhyamantri Sampoorna Pushti Yojana. What
is/are the primary objective/s of the scheme 7

(a) To promote higher education for girls.

(by Improve maternal and child nutrition 'mr the State.

{c) To provide employment opportunities for adolescent girls.
(d) Boosting agricultural production in rural area.

Answer options :

(1) Only (a) is correct. (2) Only (b} is correct.

(3) (a) and (d) are correct. {(4)  (c) and (d) are correct.
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96. AT A e ead

(A)

(2) =l T et it (1)
(by e e it (i)
(c) gfta var wind! (iii)
(d) =l . FITH giadt (iv)
It 3

(@) () () (d)
1 @ @ (U @Gv)
(2) @ (h) (v) ()
(3) @) @v) @@ @
4 (@v) @@ @ (@)

Match the following pairs :
(A)
(a) Dr. Nitin Karmalkar Committee (i)

(b) Nitin Karir Committee (i1)

(c)  Sunil Pawar Committee (idi)

(d) Dr. K. Kasturirangan Committee (iv)

Answer options :

(a) (b) (o) (d)
1 @ @ 3§
@) @) @) ({v) (
(G) () Gvy @ @
4y @) @ @ ¢

(B)

qerrsTaed U Ta darfow g1vm - 2020 =4
SEEE RIS El]

TERTSE 907 YIEhI foavunass! seiean gefet=n =yl
wHee
FEE T HIYSAE, AT A HIUGTEIGET

T Farfire GROT - 2020 THR g § ggsgda
FITTFHE TR HOATER

(B)

For implementation of National Education
Policy - 2020 in Maharashtra

To enquire the incident which happened during the
distribution of Maharashtra Bhushan Award

To study why the rates of onion collapse.

To make the syllabus for pre-primary to degree
according to National Education Policy - 2020
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97. T TR A A AreTReN TEeR e e s

(a) & AR SE, 2017 HEA doE BEUE YERIHE] SHAE 9% el el
(b) <1 ST ge &g o YAl FHlt HIST= HISTHIGE diel a3 SUTs e Sul, B 3R,
(¢) I ASHATT Staeh=air 9fa et T 50,000 912 <varay Fof WeR S

(d) 33 HeEl IuheTaRA 10 T . wiaen T AR HeR Yo SURel S

Whﬁ T
(1) (a), (d) a3 3T&a. 2) (@), (), () Jra oA
(3)  (a), (b) A ARA. @) (a), (o), (d) T s,

Identify the correct statements regarding the Chief Minister Solar Agricultural Channel Scheme.
(a) This Scheme was started in June 2017, when Devendra Fadanvis was Chief Minister.

(b}  The main purpose of this Scheme is to provide supply of electricity to farmers through the
agricultural feeder.

{c) The government has decided to pay T 50,000 per acre as rent to the farmers under this

- Scheme.

(d) Solar panels are set up on government land up to ten kilometres from the 33 kV substation.
Answer options :
(1) (a), (d) are correct (2) (a), (b}, {c) are correct

(3) (a), (b) are correct (4) :(a), (c), (d) are correct
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98. Hieel T fagme - 2023, Heurd wreft feae fauam faarm =
(@) e g5 sfufem @ v Gis - 2023 (U9 e segeR! fEdad)
THCH T HI0ATT T,
(b) TAIHE g W& A 10 BEAw 2023 TS 7 Algel STRE [FUaF FdUd Higt o,
(c) T HIFEZAN ThE 3 oo faurras=an 30% ST afedi <vamr Jum .
(d) TN HEE YeARS © Ufeatd fatae e,

At =g faum shiean
(1) (a) 3T (d) SEE 37, (2)  (a) 3T (b) TV TR,
(3)  (a), (b}, () S 3. (4)  (a), (b), {c) 3T (d) SIS e,

Women Reservation Bill - 2023, consider the following statements :

(a) Narishakti Vandan Adhiniyam officially the Constitutional {One hundred and twenty eight
amendment) bill - 2023 is a bill introduced in the Parliament of India.

(b)  The Women reservation bill was introduced by Prime Mintster Narendra Modi in Lok Sabha e
on 101" Sept. 2023.

(c)  This legislation seeks to allocate 30 percent of the seats in Lok Sabha and State legislative
assemblies for women.

(d)  The bill was the first that was considered in the new Parliament building.

Select the correct statements from the above.

(1) (a) and (d) are correct. (2)  {a) and (b) are correct.

(3)  (a), (b), (c) are correct. (4) (a), (b), (c) and (d) are correct.

99. UH.TH. A Ar=Aiae g faue e,
(a) d dftesrg Teffer Weardt g,
(b) @ 3= T sfEmwe fqardam gmt 26,
(c) ol faumm e €,
(d) TS WIET 9 B
(e) <M WA HMR R faazran g
i Y
1) @006 @ @O @e @ O dE @ @ oo
ldentify the correct statements regarding M.S. Swaminathan.
(a) He was resident of Tamil Nadu.
(b} He was educated from Oxford University.
(c) He was Scientist of Agriculture department.
(d) He was Member of Rajya Sabha for some time.

(¢) He was awarded by Raman Magsaysay award,
Answer options :

D (@) ®) (@ (@ @) @ © @@ @ ® e @ @ b @ @
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100. e 3TES, A1 JATHE WICHAH! S0 S THEY B 2

(a)  aTfrT (b) foe () TS

(d) et () W () s

et st

(1) (@), ®), (@) () @ (@ b)) (@

(3) (@) (b) (), (O 4 (), () ©) (), (o)

Which of the following countries are included in the Five Eyes Alliance ?

(a) America (b)  Britain () New Zealand

(d) Australia () France (f) Germany

Answer options :

L (@) ®), ) @ @ (), ®), () (©)

®) (@) ), @), O @ @) 0)© @ @
-00o0-
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T — (T 1 987 GR.... )

(8 weIgfErehae fafed woen ffite Snie = ®M (T6 96) S, TETghefaied Saidiahay a1 3w
SHITETIL Tl HIH HEATH 1 FI BT LT hes 371, 316 AFS Tee a THR SHEAHTER YT S shosedl
"l B TR wiae Y rarerady AfafTae-82 " Ao REER ST S dEe § Sl o
TG Uk THT=] FHEHEAT 3t/ féan 99 Ua a9 Tohe=a Ser=1 sy e 2Ea.

(9) WX wRAIfFFHEE A faftd Foo Je YUeaHal SHCaen & YYAYfEaHT = SR TUe R A
SV WA SR, W T hTEr WIvArge] SHEERM U STl WM-1 AUAgETERS T
forETar T T AvEE 3T

T e
. &. 201. Tl 961 T HIOUATEIS! A0 gEAd: T hed 7
(1) W=t gare gy 2) vavEs faamErR
(3) TSI TREEA T4 (4)  TidTesEs T
I A 3A Y (3) TN yHeE WE AW ST, e W AR IWOC(3)) eEe. Arad GIoresH
o %, 201 FEHe SH-FHF ()" ¥ A GO SR #ET S0 AGEh .

%20, (D @O @ ®
3TN T5AH TEgd TeYfRachd 1o Todd TEr qRHl ST-hdieh 8 Jreledl Faaaiied] JUaeredl Saudisreheriies
A T -FHRHHNS Hefod e qoratt SrEifhd s Eael.  ETehiian e hiedl JIge aieud
AR, Ui °1 IEe U9 A .
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